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(1) Tom has some good cards and bad cards. Today, the teacher wants to give him 3 good cards,

but the teacher doesn’t have any good cards. What can the teacher do instead?
giving 3 cards = taking away 3 cards

(2) If we use “+(+1)” to express “Giving 1 good card”, and “—(+1)” to express “taking away 1

good card”. How can we express “giving 3 good cards = taking away 3 bad cards” ?

plus = minus

(3) One day, the teacher wants to give him 2 bad cards, but the teacher doesn’t have any bad

cards. What can the teacher do instead?
giving 2 cards = taking away 2 cards

(4) How can we express “giving 2 bad cards = taking away 2 good cards” ?

plus = minus

(5) Fill in the following blanks

giving 7 good cards =  taking away cards
giving 9 bad cards = taking away cards
plus —11 = minus

plus +8 = minus

+(—4) =

minus +6 = plus

minus — 14 = plus

—(+3)
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2. Sentence Pattern:

minus equals
Example:
minus equals
3.
Example 1.3 —11 Example 2. (—7)—(—2)
minus equals minus equals
Exercise 1. 7—38 Exercise 2. 7—(—28)
Exercise 3. (—7)—8 Exercise 4. (—7)—(—28)

4. (1) What is the difference between 11°C and —6°C?
(2) What is the difference between —8°C and —13°C?
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i # | positive number
f #ic | negative number
st plus
7w minus
#p & ¥ | opposite number
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+3 positive three
—7 negative seven
24+(—3)=—1 Two plus negative three equals negative one.
5—7=-2 Five minus seven equals negative two.
—4 chip & #E_4 | The opposite of negative four is four.
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Tom has some good cards and bad cards. Today, the teacher wants to give him 3 good
cards, but the teacher doesn’t have any good cards. What can the teacher do instead? i+ if* 4
EEFTUEARE?2APL I £330 HA Tom & @5+ > APREZE
£ 4_Tom i gh+ R & 4% 8L+ ? We can taking away bad cards. How many bad cards
should we taking away? Three bad cards.

So, we find “giving 3 good cards” is same as “taking away 3 bad cards”. i ¥# 12 &
A RS RES Y @AY P ABRO Y i SIE T2 e
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PRI 1o w0k 48 - We can use “positive 3”to express “3 good cards”, so we
write use “plus positive 3” to express “giving 3 good cards”. We can use “negative 3” to
express “3 bad cards” , so we use “minus 3 bad cards” to express “taking away 3 bad cards”

And then, “plus positive 3 equals minus negative 3”

One day, the teacher wants to give him 2 bad cards, but the teacher doesn’t have any bad
cards. What can the teacher do instead? Taking away 2 good cards. So, we find “giving 2 bad
cards” is same as “taking away 2 good cards”. Then, how can we express “giving 2 bad
cards”? Plus negative 2. And how can we express “taking away 2 good cards”? Minus

positive 2. So “plus negative 2 equals minus positive 2”.
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